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SET -1
Series : TYM e
=321
A A, ode No.
Roll No. Tieef I HI IT-YETehT % TE-T8 T
a9 fod |

Candidates must write the Code on the
title page of the answer-book.

o  FHUASAA B foh 39 T-TH H HfZd I8S 10 + 1 AHfH £ |

o T-TA H Ifer BT <l 3R fEU T Shre R ohi BT IR -Y&ieh! & JE@-I% W ford |
o UG BT [ U TH-TAH 26 A F |

o FHUIAT I HI IR TGl TE H & ITA, ST I FHA1h Y (1 |

o I YW-UA I UeH o fIT 15 fire w1 aw T w7 | yed-va 1 forawr qate | 10.15
1 TR ST | 10.15 99§ 10.30 591 b BT hadl YIT-U I Gel 3N 38 3G &
TN o IT-F&TehT W TS I 48T fer |

o Please check that this guestion paper contains 10 printed pages + 1 Map.

e  Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

e  Please check that this question paper contains 26 questions.
o Please write down the Serial Number of the guestion before attempting it.

] 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 15 a.m. to 10.30 a.m., the students will read the
question paper only afd. will nat write any answer on the answer-book during this

period.
SOCIAL SCIENCE
e a7 : 3 aoe S7ferhan 37 80
Time allowed : 3 hours Maximum Marks : 80
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I 14537 :

(i) 3G I97-97 5 o726 F97 8 | G 397 74 E |

(ii) FCI T & b 3G GHT RTTTE |

(iii) Fo7 GEIT1 @7 T Hld TG-FR1T T 8 | Y9 Fo7 1 % HT 8 |

(iv) T97 G&I18 T 18 TF 4% J97 3 3% HI & | 377 & Je4% J97 1 I 80 5] @
STTere 1 781 &1 e |

(v) TS GET19 G 25 T TP F97 5 3% 1 8 | 577 & 9% 97 &7 I} 100 V5] @
1% %1 78] &1 e |

(vi) ¥ GEIT 26 T @ T 8 | 399 o 9T 8 26(A) 37 26(B) | 26(A) 2 3% &1
/75T & TUT 26(B) 3 3% 1 YT & & | FIA H1 597 [0 &7 R 37 3771 FH-
GI&TeHT @ qrey Teell #

(vii) O 5o7-77 B faeq 761 & | ot o @3 et § suaiies ey & | 07 ¥t gva 4 3 5
g 37191 U & fawe 57 HATE |

General Instructions :

(i) The question paper has 26 quéstions i all. All questions are compulsory.

(ii))  Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each
question carries one mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi)  Question number 26 is a map question. It has two parts 26(A4) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion
attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some

questions. You have to attempt only one of the alternatives in all such-questions.
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1885 3 77 35 e St 1w o i g 1
YT

TR 3 sraTEe TR H i TR Wemw e 61 3R wE A Y 7
YT

1887 T feToryet & Ush Soruld Hifetsh dcd g9 4 $%< Ug (Tl BR) # &ed o TcaHe
QU T TET AIHTISTeh T &0 1 foharm ?

Why were big European powers met in Berlin in 1885 ?
OR

Why were merchants from towns in Europe began to move countryside in seventeenth

and eighteenth centuries ?
OR

Why did Charles Booth, a Liverpool ship awner gonduct the first social survey of low
skilled workers in the East End of London in FRET?

e Sherfereh e’ 3 FeRTIIeRT FHIL GG (ka1 91 TEfea] i s 7 1
HYaT

SUATH FUTHT <hT ST F1 4 7 7

Why did the Roman Catholic Church impose control over publishers and booksellers ?

OR

Why do novels use vernacular ?

Il o MR T HETGHT T SHehT0T ShifsTY, | 1
Classify resources on the basis of origin.
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T IS Tt e ], i ST 1 TEE R || U i fageror Hifs | 1
‘A challenge is not just any problem but an opportunity for progress.” Analyse the
statement.

3T o SATTER forehtdl o foheal & A& T Ieoid iy | Vit =1

State any two goals of development other than income.

TS W Th{deh THTEA] T STANT ohich TEI31 h1 IcUTGH Hd &, a1 38 YR hi Tatafem
Tormr amTfefer &isreh o 3AdTia 3T & 7 1

When we produce goods by exploiting natural resources, in which category of economic
sector such activities come ?

TG (3KVT) ST S5 % H18 &l JerEm St | Vit =1

Give any two examples of informal sector of credit.

e’ 1 1890 o 2915 H IEIHI & AT 6l Frafaes 37 WY seiegesn | 9

THTET %1 UM HIT | 3x1=3
HYET

193 STaTed] § W Sl Eh! 681 1 T FHEE &1 9UH it |
FHET

194t STaTedt % G e shi A% -G A o ToTT 33T 70 b i et ot aui hifre |

Describe the impact of ‘Rinderpest’ on people’s livelihoods and local economy in
Africa in the 1890s.

OR

Describe any three major problems faced by Indian cotton weavers in nineteenth
century.

OR

Describe any three steps taken to clean up London during nineteenth century.
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9. “‘Hgu Shifd = G IR T & 3T Gadl ! FeeTht ArTl hl et sget & |7 U= 1
fergersn i | 3x1=3

Yl

S 3 3R ITRete sive g shuw: forRad “wree wog Isyfed’ qen SS9 SRR’ 3u=Et i
ferrar—aeg ¥ 37 wse AT |

“The ‘Print Revolution’ had transformed the lives of people changing their relationship

to information and knowledge.” Analyse the statement.
OR

Distinguish between the themes of ‘Pride and Prejudice’ and ‘Jane Eyre’ novels written

by Jane Austen and Charlotte Bronte respectively.

10. W H FE o s B8 HEA1 & Hv Hedviid Tl HHEA] W e fhE TR 698 W8 7
ST HIT | 3x1=3

How has the ever increasing number of industrics i India made worse position by

exerting pressure on existing fresh water resources ? Explain.

11, “g99 3R "em uias @ aie @t st ada fawm 2q ©-onfaa 2 17 & &6
fergersor HifTT | 3x1=3

“Dense and efficient network of transport is a pre-requisite for local and national

development.” Analyse the statement.

12. R YRR <hl I SFIEAT i s Yl 3R wifdawrmefl s9@ & fauw 1992 O ‘ard
gferae’ § fopu 70 geneH & fhegl i Sraer i s 9uie shifsy | 3x1=3

Describe any three provisions of amendment made in ‘Indian Constitution” in 1992 for

making ‘Three-Tier’ government more effective and powerful.
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13.  \HfsTen forvrs <61 Teiifa o aftom st faifita @ aret 9 srent 6 s hifse |
3x1=3

Explain the three factors that are crucial in deciding the outcome of politics of social

divisions.

14, “ud-Trerdn g safa an aiféa it ueh formmem 72 8, W 78 gaR & i bl 4 3w
2 1" e i wm e | 3x1=3

“Secularism is not an ideology of some political parties or persons, but it is one of the

foundations of our country.” Examine the statement.

15. et =1 ge ek & fore fohe yer mergul @ 7 Serewn dfgd smen fifve | 3x1=3

How is the issue of sustainability important for development? Explain with examples.

16.  Efad 3R TETied &5 hi Hat viA] § 361 ose il | 3x1=3

Distinguish the service conditions of organized sector with that of unorganized sector.

17. <o < foehra o fou ol it @@ o S9E & @S &1 ¢ 7 hal diF swron &l
ST HINT | 3x1=3

Why is cheap and affordable credit important for the country’s development ? Explain

any three reasons.

18. TSR H SN0 ¥ s & fU Iqeeiati § SPrsehdl 8 Hells ST Hehdl & ? formal a9 alienl
1 TS HIT | 3x1=3

How can consumer awareness be spread among consumers to avoid exploitation in the

market place ? Explain any three ways.
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19. JUIH 1871 % STC STehd &1 § o1 foepiess aftferfaai 1 avi Hifs | 5x1=5
e
P 3 5901t S oo W50 o Frpre i e eiffen ezt o1 afient 41 290
HIT |
Describe the explosive conditions prevailed in Balkans after 1871 in Europe.

OR

Describe the role of different religious groups in the development of anti-colonial
feelings in Vietnam.

20. ‘3THEANT Ao e YR et we o <hl fewdiert % Ty vl § yE g3 ¢ I U
TR 3G JHTET hl ST HIT | 2+3=5

JAYT
I, e 1 uigenai i e off gEeEgyl 9 w S o4 F a1 fathad | 2 wigena
3 wfera 3ras ncier 5 | wen am o 7 o Sifam |

How did Non-Cooperation movement start with parficipation of middle class people in
the cities ? Explain its impact on the economie front.

OR

Why was Congress reluctant to allow wemen to hold any position of authority within
the organisation ? How did women participate in Civil Disobedience Movement ?
Explain.

21, “1980 d 1990 3 €1 H Wiid BT 4 HT g9 & foru 379 Heuma qun Senfieh gaw
1 YT hl |7 38 2 hl Ige0N Higd gfee HfT | 5x1=5
Jryat
TRA H T=eTd TTE Sffesht S’ TR Ao SN &t gom HIT |

“The Government of India has introduced various institutional and technological
reforms to improve agriculture in the 1980s and 1990s.” Support this statement with

examples.
OR
Compare ‘intensive subsistence farming’ with that of ‘commercial farming’ practiced in
India.
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22, forelt ur <kt anifefer S=fa farfermior S < foepra @ ==l A7) Sl @ 7 SeEun afgd =3
i | 5x1=5

Why is the economic strength of a country measured by the development of
manufacturing industries ? Explain with examples.

23. AR § TSHITh Sl o foheal aral S 1Al o1 auid HfT | 5x1=5

Describe any five major functions of political parties performed in a democracy.

24, “ogfaq <hl SIS 3 TRAT & 719 H SAlehdiizreh ogas foreht i 3= e gorreft 9 1!
3T 2 |” 36 A ] —AFET 38T | 5x1=5

CRE
“ANRTTNh AT FewTd Wifd A HEWE w1 Stad S # amieR % fofe meenr |rfea
B 2 |7 39 YA I —AFHTE SRR |

“Democracy stands much superior to any.other form of government in promoting
dignity and freedom of the individual.” Justify this statement,

OR

“Democracies lead to peaceful amd hammonious life among citizens.” Justify this
statement.

25. ool =mum fora yoer fafist 29t & a9l @1 wehreto & 181 § 7 SCTEw afed e
HIT | 5x1=5

YAl

B 39 2freh Sfia # Svefiertor o wuTell <l foh TehR 39 KT & ? IeTEil Afd s
IS |

How has foreign trade been integrating markets of different countries ? Explain with
examples.

OR

How do we feel the impact of globalization on our daily life ? Explain with examples.
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(A)

(B)

(A)

(B)
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31 A& a 3R b U 7T qRG % ToHIfGR ET-aHteE § 3ifed few o § | g aeon
&1 frAfafga ST H gerar 8 qg=nT 3t 3% "2 9W I e di= 1
3T v ol 2x1=2

(a) I8 TUM &l YR T Hid 1 Jfeaye gam |

(b) o8 T S At 4 gt et AIgU % ve § oA o |

3eft fou e va & Terifaes War-aetes # fefafed s suge faed | gufse ik
37 W ferfae - 3x1=3
(i) TS EiE — SR g3 -7

(i) WETeRI — 8] Ud 38T T

(i) dfvef) STTe w1 BRI ST I

Two features a and b are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines markednear them :
(a) The place where the Indian National Congress Session was held.

(b) The place where Gandhiji organized ‘Satvagraha' in favour of cotton mill

workers.

Locate and label the following with appropriate symbols on the same given

outline political map of India.
(i)  Raja Sansi — International Airport
(ii) Bhadravati — Iron and Steel Plant

(iii)) Software Technology Park of West Bengal
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e - Frefafed s Fae gfeafaa ahenfRt & e S e 26 F WA WE: 5x1=5

@)
(i)
(iif)
(iv)
)

38 T 1 T forftae st it i @l H ot ferari 3 weamr fopam o |
38 U 1 T fARae et mefsht 3 e g drer o |

3T TS 1 T TorRay St T widi ST gams-uay o § |

39 U 1 W fARaw &7 gem @iel vd e w97 e © |

39 T 1 AW feftgu st 10w smifas i g9 a2 |

Note: The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 26 :

(1)
(i1)
(iif)
(iv)
(v)

Name the state where the Indigo planters organized Satyagraha.
Name the state where Gandhiji violated the Salt Law.

Name the state where Raja Sansi International Airport is located.
Name the state where Salem Iron and Steel Plant is located.

Name the state where Narora Nuclear Power Plant is located.
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TR . 26 % [T AHfE
Map for Q. No. 26

WA 1 W-AFRE (THifeR)
Outline Map of India (Political)
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SET -2
Series : TYM e
322
A A, ode No.
Roll No. Tieef I HI IT-YETehT % TE-T8 T
a9 fod |

Candidates must write the Code on the
title page of the answer-book.

o  FHUASAA B foh 39 T-TH H HfZd I8S 10 + 1 AHfH £ |

o T-TA H Ifer BT <l 3R fEU T Shre R ohi BT IR -Y&ieh! & JE@-I% W ford |
o UG BT [ U TH-TAH 26 A F |

o FHUIAT I HI IR TGl TE H & ITA, ST I FHA1h Y (1 |

o I YW-UA I UeH o fIT 15 fire w1 aw T w7 | yed-va 1 forawr qate | 10.15
1 TR ST | 10.15 99§ 10.30 591 b BT hadl YIT-U I Gel 3N 38 3G &
TN o IT-F&TehT W TS I 48T fer |

o Please check that this guestion paper contains 10 printed pages + 1 Map.

e  Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

e  Please check that this question paper contains 26 questions.
o Please write down the Serial Number of the guestion before attempting it.

] 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 15 a.m. to 10.30 a.m., the students will read the
question paper only afd. will nat write any answer on the answer-book during this

period.
SOCIAL SCIENCE
e a7 : 3 aoe S7ferhan 37 80
Time allowed : 3 hours Maximum Marks : 80
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I 14537 :

(i) 3G I97-97 5 o726 F97 8 | G 397 74 E |

(ii) FCI T & b 3G GHT RTTTE |

(iii) Fo7 GEIT1 @7 T Hld TG-FR1T T 8 | Y9 Fo7 1 % HT 8 |

(iv) T97 G&I18 T 18 TF 4% J97 3 3% HI & | 377 & Je4% J97 1 I 80 5] @
STTere 1 781 &1 e |

(v) TS GET19 G 25 T TP F97 5 3% 1 8 | 577 & 9% 97 &7 I} 100 V5] @
1% %1 78] &1 e |

(vi) ¥ GEIT 26 T @ T 8 | 399 o 9T 8 26(A) 37 26(B) | 26(A) 2 3% &1
/75T & TUT 26(B) 3 3% 1 YT & & | FIA H1 597 [0 &7 R 37 3771 FH-
GI&TeHT @ qrey Teell #

(vii) O 5o7-77 B faeq 761 & | ot o @3 et § suaiies ey & | 07 ¥t gva 4 3 5
g 37191 U & fawe 57 HATE |

General Instructions :

(i) The question paper has 26 quéstions i all. All questions are compulsory.

(ii))  Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each
question carries one mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi)  Question number 26 is a map question. It has two parts 26(A4) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion
attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some

questions. You have to attempt only one of the alternatives in all such-questions.

32/2 2

teachoo.com


https://www.teachoo.com/
https://www.teachoo.com/

teachoo.com

1. g RIS wme e 2, Sfce S T 37aE B |1 U w1 fagermr Hifs | 1
‘A challenge is not just any problem but an opportunity for progress.” Analyse the
statement.

2. I o SMUR YT GHIGAT bl ST{TehTuT SHIfST | 1

Classify resources on the basis of origin.

3. THA hfetsh == 3 YehTerehl 3TN qEdeh fershanatl W qrafeat it ommg 7 1
YT
U SHUTST ST START R LA & 7

Why did the Roman Catholic Church impose control over publishers and booksellers ?
OR

Why do novels use vernacular ?

4. 1885 T 3 F qrehdeR 29l 1 afef i da bl g8 7 1
T
Tl 3R STeTEe vratfeeat | i IRl % Herw il 61 W TG 6 H Y 7
HYET

1887 H foTeryet & U @i mifets =Ted g4 4 $2 U8 (E ®R) U oied & Teudud
TSTGI hT TR | HelaTor F foha ?
Why were big European powers met in Berlin in 1885 ?

OR

Why were merchants from towns in Europe began to move countryside in seventeenth

and eighteenth centuries ?
OR

Why did Charles Booth, a Liverpool ship owner conduct the first social survey of low
skilled workers in the East End of London in 1887 ?

322 3 [P.T.O.
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5. 9 gH WTehfdeh HHTEAT o1 ITANT Shich TEGT o1 IcdTed i &, dl 36 YehR ohi Tifafarfert
foper 3TTTfh &=k o STaRTa STl & 7 1

When we produce goods by exploiting natural resources, in which category of economic

sector such activities come ?

6. TG (R07) o TS &1h o his l ITELT ST | v+ th=1

Give any two examples of informal sector of credit.

7. 3T o faied faenma o fhgl & &l o1 Iooig T | Vit h=1

State any two goals of development other than income.

8. wmiiNTeR favrer <h eHiTa = ftomsi =i fuifim +i Jrel 7 Sieh! 6l =3mean HifT |

3x1=3

Explain the three factors that are crucial in deeiding the outcome of politics of social

divisions.

9. e YRR 1 wITEh SHEE] Wi WikE yurell 3R wiiEmet = % e 1992 T ‘9
gigur 3 fopu e geiyH & feegl @9 wrEaE) @ g #ifag | 3x1=3

Describe any three provisions of amendment made in ‘Indian Constitution’ in 1992 for

making ‘Three-Tier’ government more effective and powerful.

10.  “eri-Tierdn o safeaat a1 urféai st ueh formmmer 2t ], wd I8 g ox <hi el § & U
2 " Y il w@ Hifeu | 3x1=3

“Secularism is not an ideology of some political parties or persons, but it is one of the

foundations of our country.” Examine the statement.
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11.

12.

13.

14.

15.
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eTofterT o1 4eT forehra <6 foTe fora Tepm wemarqu & 7 ITexvn afgd e HIvT | 3x 1=3

How is the issue of sustainability important for development ? Explain with examples.

91 & Tep@ & foru wan 3R " & 3Tt ol STavas i & 7 fehedl i wrui it

SRS HIT | 3x1=3

Why is cheap and affordable credit important for the country’s development ? Explain

any three reasons.

TTfea 3R 3TEied & @t Ha wdl § si v Hifa | 3x1=3

Distinguish the service conditions of organized sector.with.that of unorganized sector.

ISR H NS0T A s 6 AU I09TEaa] § SRl E Hers A Gehdl 8 7 foheal did adleh!
I TS HITT | 3x1=3

How can consumer awarefiess be spread among consumers to avoid exploitation in the

market place ? Explain any three ways.

“Fer 3R wem IREeT H T e 3R T Ty 3 qg-snfad @ 17w @6
fergersor HifTT | 3x1=3

“Dense and efficient network of transport is a pre-requisite for local and national

development.” Analyse the statement.
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16. 9T § TN h! ! §3 T % HRU AN T THIEHT T GaTE {ohd ThR 9¢ W & ?
ST HIT | 3x1=3

How has the ever increasing number of industries in India made worse position by

exerting pressure on existing fresh water resources ? Explain.

17. “‘geur shifed’ 3 GuAT 3 T & 3Th Taell bl gt i sl frrerht seet & |7 %ud
fergeteror <IRS| 3x1=3
YT
S 3ATfEe 3TR IRt sifve i shust: fotfaa “uTse wog Isgfem’ aen SF RR’ 3u=ma &
forsr-ag | 37 Tse i |
“The ‘Print Revolution’ had transformed the lives of people changing their relationship

to information and knowledge.” Analyse the statement.
OR

Distinguish between the themes of ‘Pride and Prejudice® and *Jane Eyre’ novels written

by Jane Austen and Charlotte Bronte respectively:

18. ‘Tee@® &1 1890 % =9eh H 31T o @I sl ATHEET 3T WY Tegaed W 9

THTET T FUM HITT | 3x1=3
1

19eff STaTedt § Wit SRl <At et 9 g won st & Al i |
e

194t STaTedt % G e shl A% -G A o ToTT 337 7T fohei i1 sheHl ot aui hifire |
Describe the impact of ‘Rinderpest’ on people’s livelihoods and local economy in
Africa in the 1890s.

OR

Describe any three major problems faced by Indian cotton weavers in nineteenth

century.
OR

Describe any three steps taken to clean up London during nineteenth century.
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19.

20.

21.

22.
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“zrfert shi AT 3T TTRAT % ATt | eliehartes oqaedT et oft 3171 SIee woTreft & skt

JIT 2 |” 39 YA hl =ATIET ST | 5x1=5
37T

“AThartieh e LAY 3Mifd 3T TSI T Siad S # ANTHEehT o foTt Heem drfea

BIl 2 | 38 Y 1 RIETd SETST |

“Democracy stands much superior to any other form of government in promoting
dignity and freedom of the individual.” Justify this statement.

OR

“Democracies lead to peaceful and harmonious life among citizens.” Justify this
statement.

foreaht =M fopm wehr ferfi=r 23l 3 SToTRT <1 Tehiehtor ot @1 ® 7 Serewil |igd s

SHiferT | 5x1=5
YT

B 3 <fes Sfta § dvdlte & wwral w1 foee v ardue e € 7 IeTeton dfga s

HIT |

How has foreign trade been integrating markets of different countries ? Explain with
examples.

OR

How do we feel the impact of globalization on our daily life 7 Explain with examples.

Srehdal # Toifeieh cetl o fdeel Biel 91 i = 907 i | 5x1=5

Describe any five major funetions of political parties performed in a democracy.

T | 1871 o F1E STohd &7 | &t forehies aitfeafami =1 aui hifu | 5x1=5
HAYCT

Terraam ® Sufasrarg o foeg wamte o faema # fafi=r enfifes gl <t wftreet 1 oA

HIRTT |

Describe the explosive conditions prevailed in Balkans after 1871 in Europe.

OR

Describe the role of different religious groups in the development of anti-colonial
feelings in Vietnam.

7 [P.T.O.
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23, fordll es1 <Rt anrfefes I=fa ferformior S <6 faerra @ i a1t i) @ 2 Serewon wfga s
SHifera | 5x1=5

Why is the economic strength of a country measured by the development of

manufacturing industries ? Explain with examples.

24, ‘ITHEAN A fohE TR et wea o <hl fewdigrt % Ty el W YE g3 ¢ 3w
X 6k THTE ehl SATEAT T | 2+3=5

YT

7, 1S | Afgera o el ot vyl ug W e < ¥ i1 feafrard @ 2 Afgenat
3 Tl 793 3ere § form Tehr 9T forn 2 erse K |

How did Non-Cooperation movement start with participation of middle class people in
the cities ? Explain its impact on the economic front.

OR

Why was Congress reluctant to allow women to held any position of authority within
the organisation ? How did women partigipate in Civil Disobedience Movement ?
Explain.

25, “1980 9 1990 % &I H Wt HHR - Hf UK % feiw 314e dRama qon Senfiehe gumi
1 YEHT i |” 38 S 1 Ialetv Afga g Hifu | 5x1=5

Y
A | S=ford e Sfferhl iy 3R Srories HiY i g1 i |

“The Government of India has introduced various institutional and technological

reforms to improve agriculture in the 1980s and 1990s.” Support this statement with

examples.
OR
Compare ‘intensive subsistence farming’ with that of ‘commercial farming’ practiced in
India.
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26.

32/2

(A)

(B)

(A)

(B)
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31 A& a 3R b U 7T qRG % ToHIfGR ET-aHteE § 3ifed few o § | g aeon
&1 frAfafga ST H gerar 8 qg=nT 3t 3% "2 9W I e di= 1
3T v ol 2x1=2

(a) I8 TUM &l YR T Hid 1 Jfeaye gam |

(b) o8 T S At 4 gt et AIgU % ve § oA o |

3eft fou e va & Terifaes War-aetes # fefafed s suge faed | gufse ik
37 W ferfae - 3x1=3
(i) TS EiE — SR g3 -7

(i) WETeRI — 8] Ud 38T T

(i) dfvef) STTe w1 BRI ST I

Two features a and b are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines markednear them :
(a) The place where the Indian National Congress Session was held.

(b) The place where Gandhiji organized ‘Satvagraha' in favour of cotton mill

workers.

Locate and label the following with appropriate symbols on the same given

outline political map of India.
(i)  Raja Sansi — International Airport
(ii) Bhadravati — Iron and Steel Plant

(iii)) Software Technology Park of West Bengal

9 [P.T.O.
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e - Frefafed s Fae gfeafaa ahenfRt & e S e 26 F WA WE: 5x1=5

@)
(i)
(iif)
(iv)
)

38 T 1 T forftae st it i @l H ot ferari 3 weamr fopam o |
38 U 1 T fARae et mefsht 3 e g drer o |

3T TS 1 T TorRay St T widi ST gams-uay o § |

39 U 1 W fARaw &7 gem @iel vd e w97 e © |

39 T 1 AW feftgu st 10w smifas i g9 a2 |

Note: The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 26 :

(1)
(i1)
(iif)
(iv)
(v)

Name the state where the Indigo planters organized Satyagraha.
Name the state where Gandhiji violated the Salt Law.

Name the state where Raja Sansi International Airport is located.
Name the state where Salem Iron and Steel Plant is located.

Name the state where Narora Nuclear Power Plant is located.

10
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TR . 26 % [T AHfE
Map for Q. No. 26

WA 1 W-AFRE (THifeR)
Outline Map of India (Political)
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SET -3
Series : TYM e
- Code No 32 / 3
A . )
Roll No. Tieef I HI IT-YETehT % TE-T8 T
a9 fod |

Candidates must write the Code on the
title page of the answer-book.

o  FHUASAA B foh 39 T-TH H HfZd I8S 10 + 1 AHfH £ |

o T-TA H Ifer BT <l 3R fEU T Shre R ohi BT IR -Y&ieh! & JE@-I% W ford |
o UG BT [ U TH-TAH 26 A F |

o FHUIAT I HI IR TGl TE H & ITA, ST I FHA1h Y (1 |

o I YW-UA I UeH o fIT 15 fire w1 aw T w7 | yed-va 1 forawr qate | 10.15
1 TR ST | 10.15 99§ 10.30 591 b BT hadl YIT-U I Gel 3N 38 3G &
TN o IT-F&TehT W TS I 48T fer |

o Please check that this guestion paper contains 10 printed pages + 1 Map.

e  Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

e  Please check that this question paper contains 26 questions.
o Please write down the Serial Number of the guestion before attempting it.

] 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 15 a.m. to 10.30 a.m., the students will read the
question paper only afd. will nat write any answer on the answer-book during this

period.
SOCIAL SCIENCE
e a7 : 3 aoe S7ferhan 37 80
Time allowed : 3 hours Maximum Marks : 80
32/3 1 [P.T.O.
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I 14537 :

(i) 3G I97-97 5 o726 F97 8 | G 397 74 E |

(ii) FCI T & b 3G GHT RTTTE |

(iii) Fo7 GEIT1 @7 T Hld TG-FR1T T 8 | Y9 Fo7 1 % HT 8 |

(iv) T97 G&I18 T 18 TF 4% J97 3 3% HI & | 377 & Je4% J97 1 I 80 5] @
STTere 1 781 &1 e |

(v) TS GET19 G 25 T TP F97 5 3% 1 8 | 577 & 9% 97 &7 I} 100 V5] @
1% %1 78] &1 e |

(vi) ¥ GEIT 26 T @ T 8 | 399 o 9T 8 26(A) 37 26(B) | 26(A) 2 3% &1
/75T & TUT 26(B) 3 3% 1 YT & & | FIA H1 597 [0 &7 R 37 3771 FH-
GI&TeHT @ qrey Teell #

(vii) O 5o7-77 B faeq 761 & | ot o @3 et § suaiies ey & | 07 ¥t gva 4 3 5
g 37191 U & fawe 57 HATE |

General Instructions :

(i) The question paper has 26 quéstions i all. All questions are compulsory.

(ii))  Marks are indicated against each question.

(iii) Questions from serial number 1 to 7 are Very Short Answer type Questions. Each
question carries one mark.

(iv) Questions from serial number 8 to 18 are 3 marks questions. Answers of these
questions should not exceed 80 words each.

(v)  Questions from serial number 19 to 25 are 5 marks questions. Answers of these
questions should not exceed 100 words each.

(vi)  Question number 26 is a map question. It has two parts 26(A4) and 26(B). 26(A) of
2 marks from History and 26(B) of 3 marks from Geography. After completion
attach the map inside your answer book.

(vii) There is no overall choice. However, internal choice has been provided in some

questions. You have to attempt only one of the alternatives in all such-questions.

32/3 2
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3T o e ferehrd o Tohegl < o1&l o1 It hHIfT | v+ =1

State any two goals of development other than income.

T TS T T R, sfews 3=fd 1 EE R | e o fageror Hifw | 1
‘A challenge is not just any problem but an opportunity for progress.” Analyse the
statement.

TG (F01) & FFAIATNGD & o I3 Gl IETE GTT | Vit =1

Give any two examples of informal sector of credit.

SIS EH WTehfcieh THTEA] &1 ITAN @ik a3l 1 IeMEH Fd 7, A1 6 TehR ohi TITafaers
forr amfefen &rreh o 3tarta Jrei 2 7 1

When we produce goods by exploiting natural respurces, in which category of economic
sector such activities come 7

T Hfeteh o’ 3 TehTuIhi 3 TEh (Gl ot wrafeai 9 & ¢ 1
JAYAT
IUATE ST <1 STANT @1 &td 2 7

Why did the Roman Catholic Church impose control over publishers and booksellers ?
OR

Why do novels use vernacular ?

I o STTUR 9T GHTEH] <1 SiTeRTuT ShIfTT | 1

Classify resources on the basis of origin.

3 [P.T.O.
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1885 H T % AThdaR <1 ! Ffei § 93 I 55 7 1
AT
Tl 3R TSl Yarfeeat & JAUT Ireli o TR TidT shi 3T & FI i o & ?

YT

1887 T feToRye o Teh Serdia HIfcTsh =Ted 991 4 3% Ug (T BR) § @A & AeaHpe
TSTGI hT TR | Helefur & foha ?

Why were big European powers met in Berlin in 1885 ?
OR

Why were merchants from towns in Europe began to move countryside in seventeenth

and eighteenth centuries 7
OR

Why did Charles Booth, & Liverpool ship awner eonduct the first social survey of low

skilled workers in the East End of London in: ['887 ?

TR TR Y ITHH T T SGE T 3 wfEert e % v 1992 § ‘qwet
gfagm’ o fopu 0 dsiias & FR-21 14 TaamHl &1 9 it | 3x1=3

Describe any three provisions of amendment made in ‘Indian Constitution’ in 1992 for

making ‘Three-Tier’ government more effective and powerful.

TOfrT o1 GeT foehra < foTe fohe TepR HEwaqul & 7 ITeXvl Hfed @ T | 3x1=3

How is the issue of sustainability important for development ? Explain with examples.
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11.

12.
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e 1 1890 & ek H ITHIHT o AT shl FTSHIferenT 3T TAFT FAeITE W 78

THTET %1 UM HIT | 3x1=3
e

194t STt § W= SHehtl <hl fohegl i Tg@ Teenati <t i ST |
e

199t STaTedt % R e ohl T -G A o ToTT 33T 7T bl i el ot aui hifire |

Describe the impact of ‘Rinderpest’ on people’s livelihoods and local economy in
Africa in the 1890s.

OR

Describe any three major problems faced by Indian cotton weavers in nineteenth
century.

OR

Describe any three steps taken to clean up London duriag nineteenth century.

TATfod TR STEIST & %1 HaT 7141 § 3 T hl® | 3x1=3

Distinguish the service conditions of organized sector with that of unorganized sector.

“ ‘e SR’ | I AHFH 8 Tk qayi 1 "eermt @ i eft gea § 17 s @6
fergetwr ifST | 3x1=3

YT

S 3ffees 3R TRerte sive g shuw: forRad “wrge wog Isyfed’ qen ‘SS9 SR’ Su=Et i
forer g & 31eR TS Hifru |

“The ‘Print Revolution’ had transformed the lives of people changing their relationship
to information and knowledge.” Analyse the statement.

OR

Distinguish between the themes of ‘Pride and Prejudice’ and ‘Jane Eyre’ novels written

by Jane Austen and Charlotte Bronte respectively.

5 [P.T.O.
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13. T § TN h! ! §5 T % HRU AU T THIEH] T GaTd {ohd ThR 9¢ W & ?

AT HIfT | 3x1=3

How has the ever increasing number of industries in India made worse position by

exerting pressure on existing fresh water resources ? Explain.

14, “Tg9 3R egm UNEE &1 I WA 3R T fae &g yg-snfa ® 17 wud @
Toryerwur hifsr | 3x1=3

“Dense and efficient network of transport is a pre-requisite for local and national

development.” Analyse the statement.

15.  ETioTeR forvmsi bl TiiTd = TfomH =i Faiita F74 et o9 FRen! o) s il |
I3x1=3

Explain the three factors that are crucial in deciding the outcome of politics of social

divisions.

16. 9 % fosbr@ o foru o 3 AW & S5 F9 WEvEE 1 2 ? fhedl di S

ST T | 3x1=3

Why is cheap and affordable credit important for the country’s development ? Explain

any three reasons.

17. TSR H N0 ¥ §=H & fAU Iqeedisti § Sersehdl 8 $Hells S ehdl 2 7 foral diF alien
i TS HITT | 3x1=3

How can consumer awareness be spread among consumers to avoid exploitation in the

market place ? Explain any three ways.

32/3 6
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18, “eri-Taterdn S safeaat a1 ariéai st ueh ferermer =21 ], Wy I8 gR ow <hi bl # &
2 " %Y sl @ Hife | 3x1=3

“Secularism is not an ideology of some political parties or persons, but it is one of the

foundations of our country.” Examine the statement.

19. foesht samuw fopm e fafr=r ST & STSTRI AT ThiehtoT o (&1 2 7 3IeT8W0N |fgd Sariedn
IS | 5x1=5
&
& 37U 2fereh Sfter 3§ Svefientor o THTel T fohE Teh 3w U & 7 IeTevll Higa s
HifrT |

How has foreign trade been integrating markets of different countries ? Explain with

examples.
OR

How do we feel the impact of globalization on our daily Tife ? Explain with examples.

20. “1980 & 1990 % 21 & MTA TR F HiY HER & foru 37 Hramrd qon Nenfeh g
1 YEIATA 1 |7 39 YA I IgrE #@fed 9 Fifo | 5x1=5
3T
TR § e Ta Sfifeeht i #R arforsaes Hf i geen Hife |
“The Government of India has introduced various institutional and technological

reforms to improve agriculture in the 1980s and 1990s.” Support this statement with

examples.
OR

Compare ‘intensive subsistence farming’ with that of ‘commercial farming’ practiced in

India.

21. Srehad B TSHIfaeh gatl o fehegl Iier @ st sl v I | 5x1=5
Describe any five major functions of political parties performed in a democracy.

32/3 7 [P.T.O.
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22.  “=yfeq <t TSI 3R TRAT & AT T TAiehdiieh sgee T fret i 3= smee gorreft 8 w1t
M 2 |7 39 YT bl FFETT 38T | 5x1=5

FoET
QAT AT sFeeTd St 37 TeWTd T Sftad S+ § AFTEhi o foTg Aeenr afea
BT 2 |7 37 S i TG 3808 |

“Democracy stands much superior to any other form of government in promoting
dignity and freedom of the individual.” Justify this statement.

OR
“Democracies lead to peaceful and harmonious life among citizens.” Justify this
statement.
23, ‘ITHEAN e’ fohd TehR gt wew ot <Y feert & Ty well | 3% g3 ¢ i Hid
X $Heh WHTE! oh! SATEAT HIT | 2+3=5
HYdr

T, TS § uigenadi i e st wemgvl g2 W s 29 3 =l st @ afgenat
3 \fm 319 3nieie | e weRE | foan ¢ e fifaw

How did Non-Cooperation movement start with participation of middle class people in
the cities ? Explain its impact on the economic front.

OR

Why was Congress reluctant to allow women 10 hold any position of authority within
the organisation ? How did women participate in Civil Disobedience Movement ?
Explain.

24, Toreht w ki sl 3= fafmion sei & famra & =i urdt st 2 2 el afga s
i | 5x1=5

Why is the economic stremgth of a country measured by the development of
manufacturing industries 7 Explain with examples.

25. JOUH 1871 % §TG STeeh & § o1 fremhress ufefeurfaat w1 avi Hifsm | 5x1=5
AT
foraam # SufaemETg o foeg wemTeti < fom § fafi= aifife awgt 6t qfies 1 aue
HIWT |

Describe the explosive conditions prevailed in Balkans after 1871 in Europe.
OR

Describe the role of different religious groups in the development of anti-colonial
feelings in Vietnam.
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32/3

(A)

(B)

(A)

(B)

teachoo.com

31 A& a 3R b U 7T qRG % ToHIfGR ET-aHteE § 3ifed few o § | g aeon
&1 frAfafga ST H gerar 8 qg=nT 3t 3% "2 9W I e di= 1
3T v ol 2x1=2

(a) I8 TUM &l YR T Hid 1 Jfeaye gam |

(b) o8 T S At 4 gt et AIgU % ve § oA o |

3eft fou e va & Terifaes War-aetes # fefafed s suge faed | gufse ik
37 W ferfae - 3x1=3
(i) TS EiE — SR g3 -7

(i) WETeRI — 8] Ud 38T T

(i) dfvef) STTe w1 BRI ST I

Two features a and b are marked on the given political outline map of India.
Identify these features with the help of the following information and write their

correct names on the lines markednear them :
(a) The place where the Indian National Congress Session was held.

(b) The place where Gandhiji organized ‘Satvagraha' in favour of cotton mill

workers.

Locate and label the following with appropriate symbols on the same given

outline political map of India.
(i)  Raja Sansi — International Airport
(ii) Bhadravati — Iron and Steel Plant

(iii)) Software Technology Park of West Bengal

9 [P.T.O.
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e - Frefafed s Fae gfeafaa ahenfRt & e S e 26 F WA WE: 5x1=5

@)
(i)
(iif)
(iv)
)

38 T 1 T forftae st it i @l H ot ferari 3 weamr fopam o |
38 U 1 T fARae et mefsht 3 e g drer o |

3T TS 1 T TorRay St T widi ST gams-uay o § |

39 U 1 W fARaw &7 gem @iel vd e w97 e © |

39 T 1 AW feftgu st 10w smifas i g9 a2 |

Note: The following questions are for the Visually Impaired candidates only in lieu
of Q. No. 26 :

(1)
(i1)
(iif)
(iv)
(v)

Name the state where the Indigo planters organized Satyagraha.
Name the state where Gandhiji violated the Salt Law.

Name the state where Raja Sansi International Airport is located.
Name the state where Salem Iron and Steel Plant is located.

Name the state where Narora Nuclear Power Plant is located.

10
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TR . 26 % [T AHfE
Map for Q. No. 26

WA 1 W-AFRE (THifeR)
Outline Map of India (Political)
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